Solutions 3/1/2022
Class Worksheet

Example 1: Let f(x,y) = 2%y + 7zy>. Find the gradient of f at the point (1,2).
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Example 2: Find the directional derivative of the function g(z,y) = 2%y at the point (2, 6) in

the direction ¥ = 47 — 37.
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Example 3: The temperature at the point (z,y) of a metal plate is given by

1
T(z,y)=1- —x? - ZyQ degrees Celsius, where x and y are both measured in centimeters. Find

the direction of the fastest increase in temperature at the point (1,2) of the plate. What is the
rate of increase in 7" if you move from (1,2) in that direction? Give units with your answer.
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